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1. 2012 2014
2) y)
() (@9 (Brix) (gL
8/ 19 8/ 20 2.2 2.8 138 1.6 21.3 3.23 9.8
8/ 23 8/ 24 1.9 2.6 114 1.6 22.0 3.23 10.1
8/ 26 8/ 27 2.0 2.3 106 1.5 22.1 3.18 10.7
8/ 26 8/ 27 2.0 2.8 121 1.6 22.0 3.20 10.6
710m 5 7 10 2 X
201220 4
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2 (2012 2014)
2 ) %) Y 9 0
1
(cm) (kg/ 10a) (kg/ 10a) (kg/ 10a) (kg/ 10a) (kg/ 10a) 530nm
17.3 1,170 277 198 118 7 1.194 3.1
14.3 848 92 216 395 8 0.933 3.1
13.3 926 65 666 334 104 0.829 3.1
13.5 969 85 612 437 3 0.850 3.3
22012 20 201 3 20 2 201 2 20 B
K 91 5
3 2014
3.3 76.6 -
0 42.9 -
5.3 45.5 14.3
14.6 56.6 14.6
1a h
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